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ot The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : 1x10=10
e SRR Tew o

(a) Management Accounting deals with
both quantitative sand qualitative
information.

(State whether the statement is True or
False) ‘ '
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(b)

(¢

(d)

MBI fEpleieael wifRmiens S Ssiore Feab]
S ICe Givs |
(RIISTo! 1) ¢ eprey far<l)

Define Management Accounting.
2O Rplomes weeat & |

ratio is useful for measuring
the short-term liquidity. ‘
(Fill in the blank

A STl GRAE S
TGN | (3T 912 27 )

Sale of fixed assets for cash will improve
(State whether the
statement is True or False)

vgfﬁ%ﬂ“w%ﬁﬁﬁmwﬁﬁﬁﬁmsﬁs
SIS TF® 21 |
(Rgrecor 19y 7 Sprey fr<ih)

the current ratio.

What do you mean by cash budget ?
57 4o A0S0 e (e

State the meaning of budgetary control.

e Fages o o2 |
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]

()

(R)

()

Contribution is the difference between
the sales and the total cost of sales.

(State whether the statement is True or
False)

Wi’ﬁ%ﬁwﬁﬁaaﬁsww?ﬂ%ﬁx
(Rgfecor s1%7 @1 eprey fa73)

What is break-even point ?

SIS A=Y, (52

The difference between actual cost and
standard cost is known as

(a) variance

(b) profit

(c) differential cost

(d) loss (Choose the correct answér)

AFO TR OIS T G NG ANLFF Gl

-
(a) oI
(b) e
(c) etemIps T
(d) v (o7 ©eh! Fifz Clere)
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(j) State the meanihg of standard cost.

N 39 9 &2 |

Give brief answers to the following

questions : 2x5=10

oot frdl eiERs b3 e fir ¢

(a) Mention two limitations of standard
costing.

TS A BoAFRR 708 ANmel S 54 |

(b) Write a brief note on margin of safety.

e FWE esge 9ol 53 (Bl &t

(c) Write any two objectives of Management

Accounting.

i plel RpIPFes ﬁmmzzﬁf @W“T}ﬁﬁﬂl

(d) Mention two objectives of Financial
Statement Analysis.

ﬁWWﬁWﬁWWﬂWl

(e) What is current ratio ?

bfeTe SRpette e e
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Answer the following questions : (any four)
5x4=20

. ©oTS R eXEIRT O Al s (Rl oS

(a) Explain briefly the scope of
Management Accounting.

ARBIEHI =EI=Fa #IRe= e Uil 11

(b) Describe briefly liquidity ratios used to
measure the liquidity of a firm.

<ot 2IfSBI STl GiRe TIRT T TSR
ORISR BNF I 1 |

(c) State the basic characteristics of
marginal costing.

AR TR RPIPAFe T (SRR 7o 4|

(d) Explain briefly labour cost variance.

Y AT OO G I

(e)  Write the distinctions between fixed
budget and flexible budget.
29 AT ST T AT Ner© Al
REIIGIERERIN

() Write a brief note on comparative
statements.

ST RET Rfeves es<e @bl 53 Gl
feran |
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Answer the following questions : (any four)

DT\

(@)

10%x4=40
3l eI ©ed WAl ¢ (R 5ifo))
Explain different tools and techniques

of Management Accounting in the areas
of decision-making.

RS g2e (Fae bRl Bpismaes [fed

- TGl S (FETER DI |

(b)

Write any five limitations of
Management Actounting. How does
Management . Accounting differ from
Cost Accounting ? . '5+5=10
SRBER BEIATIR Rcie 2ol Sl
fe1l | S T BOIZFTR A9 AFpErEl
EpieTRe e 722

(d) ()

The following information of a

company is given below :

G5l IR SRR See Wl Te ¢

Current Ratio = 2-8

BleT® S#e

Acid-Test Ratio= 15 &
GOV-ST SIS

Working Capital = % 1,62,000
PR o

Find out Current Assets, Current

Liabilities and Liquid Assets. 6

(c) “Marginal costing technique is a bieTe A=A, DeTe (Wl ON=s de Foife _
valuable aid to management in taking Hefa == |
many managerial decisions.” Explain
Suciistatemen v th Sreferenceifito (i) How 1is the Common Size
managerial application of marginal L
costing. . Statement ifferent from
“PITR <5 I 200! AARBlEE B @S Comparative Statement ? A
ARG AT G SER S 1 2l 407 el i Rew R e ferm
ARCIEHIE etaisE Sz = Refecs! i< RfoT M1 AT 72
Bl i
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(e} Following are the information obtained

from the books of Bajaj India Ltd. :

Bajaj India Ltd. 929 21 ©&To 3 ©APRZ
ColiEl e ¢ :
Fixed Cost (ZIfl I%) = % 1,60,000
Sales (K@) = 2 100 per unit
Variable cost (“fRaeaie ) = T 90 per unit
Calculate (< 1) : 2x5=10
i) P/V Ratio

P/V e
(ii)) Break-even sales
(iii) Break-even units

F-ERRE KRl G5

(iv) Sales to earn a profit of 240,000

40,000 TOE @S Soq SREE HEd
<ifsme

(v) Profit when sales are ¥ 20,00,000
20,00,000 5 T@ig ¢olqe &@fe
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B

Month
TR

February
March
April
May .

June
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From the following data, prepare a cash
budget for the three months April to
June, 2023 of an organisation :

wero 3l WU 791 b1 AL 2023 b dfeleTS
A G Wee [OF ARS A FoM 479 qACHO
g4Eo 4l ¢ '

Sales (3) Purchases f)  Wages R) Sundry Expenses [7)

fel(e) @) w6 Kew)
120000 . 80000 10,000 7,000
1,30,000 78000 12,000 9,000
70,00 100,000 8,000 5,000
1,I6000 103,000 - 10,000 10,000
85000 80,000 8,000 6,000

Further Inforniation c
Tfefse w2 ¢

(i) 10% of sales is realised in the
month of sale and the balance is
realised equally in two subsequent
months. :

REE 10% REF N2 SmiE 23 i<
IR 2I72E] ot 2® I Stz =
= | :

(ii) Creditors allow a credit of one

month.

SANSHIPTRCS GRS TR SR e |
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(9)

(iii} 20% of the wages of a month
remains as arrear which is paid
in the following month.

G TGRT 20% I 251 A Kol
ol wize #AfEeeia 23|

(iv) Sundry expenses are paid in the
month itself.

Rfqy <=7 MZoices “AReNg 41 27 |

(v) Income tax T 20,000 and dividends
2 12,000 are payable in June.
SIS 20,000 551 Si=: TegicH 12,000
Bl g [2© A | |

(vi) Cash in hand on 1-4-2023 was

% 40,000.
1-4-2023 SifFS J9% Zce Tl Sifee
40,000 Gl | ‘

From the following information
regarding a standard product,
calculate —

() labour cost variance ;
(i) labour rate variance ;

(i) labour efficiency variance.
4+3+3=10
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o

(h)

GOl AT AN T~F o9 A 2«1 [efm
42

() [T SO

(i) ¥ S SIFo

(ii}) &Y WHFONH OO

Labour rate S0 paise per hour:

EHT 29

Hours per unit 10 hours
ofS (iib® T |

Units produced - 500
QIR o]

Hours worked 6000
Actual Labour cost 2 2,400

oS W

The standard materials required for
producing 100 units is 120 kgs. A
standard price of 050 paise per kg is
fixed and 2,40,000 units were produced
during the period. Actual materials
purchased were 3,00,000 kgs at a cost
of 2 1,65,000.
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100 (5115 Sealive FICET 120 kgs A AR
e | @lfs FrEtee TNe 7 50 #i23% 4
4 ZE OiE 2,40,000 (o6 iR e
Tesiin 91 251 300,000kgs &F© AN
T 9 T 9F W[ T 1,65,000 5 |

Calculate : - 4+3+3=10
Nefm =i ¢
(i) Mafgihal cost variance
SSE @ OO
(i) Material price variance
AN T4 SRy
(i) Material usage variance

S AR (TIZe) O
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